KS serieKsS ﬁf)“d%fg KS 50

CIETEEBISE TS Code
200

HRERISK 15 PRBAR
[tem NO. ave de Track Length S Slide Number Protecting Cover h
02 P: &% 150 A 3iil CiREE SO: REHBIRENIE
Precision Class Standard Type 2 Aluminum Cover Only limit orbit
06 C:- —faim 200 Ho B E STHRPM-Y45
12 Normal Class 250 T1/T2/T3 Telescopic cover Panasonic PM-Y45
P SR S1PMTFPM-Y45-P
300 = None: no cover Panasonic PM-Y45-P
15 E
+0.005mm
Y axis
Y
\
D a
Center of gravity
Ve (s
U [
Ix: nggngﬁﬁ Moment of inertia along the X-axis
Iv: FEZYERZABIERE Moment of inertia along the Y-axis
1BMEAE BEf:mm¢
ISR Ix Iy
KS50 9.6x10° 1.34x 108
- Eztiﬁ,*ﬁ Basic Specification
N X | 8 |EAgEEat | BASETEas s issl i
;F% é EUEE %gﬁ Basic Dyr?azmlc Basi:statifERated Eﬂ%ﬁ%ﬁ Pt Setie Wlamari
RUE Norni;al | el |2anr Rat?t,j\,L)oad L(?\T‘)j {0 Pitching Me (N - m) {miE Deflection My (N - m) =& Rolling Mg (N - m)
Outside | lead |gagic ic Static [ 5 5 S 3 5 5 3 3 5 3 3 5 3 5 3
o ied oot ooa| TEEE A TBEE S | TBEE A WBIE S |WBIE A1[JBEE A2 [JBEE S1|JBEE S2 | BEE A1 | BEE A2 |/BIE S1[/BFE S2[BEE A1| BEE A2 [JBEE S1[TBEE 52
(mm) (N) (N) Slide Block A|Slide Block S [Slide Block A|Slide Block S|Slide Block A1|Slide Block A2 [Slide Block S1 | Slide Block 52 | Slide Block A1 |Slide Block A2 | Slide Block 1 [Slide Block S2|Slide Block A1 Slide Block A2 |Slide Block S1} Slide Block 52
KS 5002{-¢1 8 | 2|53t 770
KS5006/ P | 10 16 2670 [5190 8007 / 12916 / 116 545 / / 116 545 / / 222 444 / /
KS 5012| P | 10 |12] 1860 | 3490
MEEE HISEMNSE (mm) TEFITE (mm) EARENIAFT (N - cm)
Length of Rail Repetitive Accuracy Traveling Parallelism Max.Driving Torque
(mm)
150
200
KS 50 250 +0.003 +0.005 0.010 / 4 2
300
Ny 74 2xn-@4.5 THRU,@6x4 DP |a, l%,
== 47
2x2-M3x0.5Px 8 DP 30 2D&3DTHE TS E

35 /L www.limonrobot.cn
25 Y /[ v
1 _T © | Hlele¢[e|F & ks _

= | A e [ ES

|‘+’
|V

~0
o~
~O| 1 1 = u|
T MRS Hel © o Grelelsld & [He N
25 2.9~
50 N 2-M3x0.5Px4 DP, 15x1.3 DP 5.7
K G
SECTION A-A 5 L2 5
]
60
Th___ 34
4-M3x0.5Px6 DP 165

PCD 33 \ 10 10/

Ny % EA |
'f..? ’P/ o / L /Y% S N 1 FFEJ_ 3? VIEW B
Ba e P | S M S | o
N R I * T T R E— ) ——— o 8
—-A g0 6 g
VIEWB (n-1)x80
HERE =2=RU BAITHE (mm) =8 (kg)
L2 (mm) ; - G(mm)  K(mm) n . -
(mm) AVBEE A2 BEE AVBEE  A2iBEE
150 220 70 - 35 80 2 1 -
200 270 120 55 20 160 & 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4

1.6 1.8 1 O
www.limonrobot.cn




KS sering 'rgﬁ?)“d%fg KS 86

KS 6 KSRl
KS series module
BERISETE Code CJETEBYSEIKES Code

A

C SO KS86D

KS60D 05 P - 200

BEER R HEPRBA R rr
y Limit Switch gin
P: f5E4 AR CHEE SO:RBEHERENE P: 5% ARHER ; REEIREIE
Precision Class Standard Type Aluminum Cover Only limit orbit Precision Class Standard Type 2 Aluminum Cover nly limit orbit
10 C: —fR&K 300 BifiEEE ST TFPM-Y45 C: —RR Ho BifiEEE S1TATFPM-Y45
Normal Class 400 Telescopic cover Panasonic PM-Y45 Normal Class Telescopic cover Panasonic PM-Y45
TA/T2/T5 EE e S1PHATRPM-Y45-P TOT1/TE e p N
st None: no cover Panasonic PM-Y45-P None: no cover Panasonic PM-Y45-P
ll\lo.le‘ E:
. Note:
Y axis
Y
D
Center of gravity
Ix: E%XHZ@% Moment of inertia along the X-axis Ix: E%XHZ@‘E%E Moment of inertia along the X-axis
Iv: EﬁYﬁEZ‘E’E\_&'}‘E Moment of inertia along the Y-axis Iv: ﬂ%YﬁEZTQEﬁ Moment of inertia along the Y-axis
== BB {7:mm¢ 1BME BEfiz:mm¢
BUR Ix ly R Ix ly
KS60 2.056 x 104 2.802x 108 KS86 7.445x10¢ 1134 x 10¢
- EARIRH sasic Specification - A Basic Specification
- = 48 = = ey
Ba e a de Ba e ea de
KB - 25 Ex HAEEEan EXFEEan AFEF 4B Permissible Static Moment itir /Afﬂf ol X | &% EAREEEEq Ezﬁﬁﬁfﬁﬁﬁ ZFEF%E Permissible Static Moment
PINd E)%E | $¥%8 | BasicDynamic | Basic StaticRated _ 4MR (35| BYEE | BB | BasicDynamic | BasicStaticRated _ i i
el Nominal | ¥ | FEET |ZEEfe| RetedLoad (N) Load (N) {#¥{p Pitching M, (N - m) {Ri% Deflection M, (N - m) =& Rolling Mg (N - m) od Loz FId EATH |EafE| Retedload (N) Load (N) {0 Pitching Me (N - m) 1% Deflection My (N - m) &) Rolling Mg (N - m)
utside | lea i i utside | lead |asic Dynamic|Basic Static| 3 g E K 3 K K 3] K K s 5 ] § 3 E
e (| Sy Besic S g A TR S | TBEE A | BEE S | JREE A1 | TBEE A2 | TBEE ST | BEE S2 | TBEE A1 | TBEE A2 TBEE S1 |BEE S2| B AT | BEE A2 [fBEE S1| BEE 52 ot o P Drnemicleotc st e A [ VR S [ AR A [ EE S | A1 R A2z S1[3EE S2 | iRE A1 [iBEE A2 |8k S1[/eE S2| iBEE A1 [ BEE A2 [BEE S1[38EE S2
(mm) N N) |Slide Block A|Slide Block S[Slide Block A|Slide Block S|Slide Block A1| Slide Block A2 | Slide Block S1 |Slide Block S2 [Slide Block A1 [Slide Block A2 [Slide Block S1 [Slide Block 52| Slide Block A1 | Slide Block A2 [Slide Block 1 Slide Block 52 (mm) (N) (N) [SlideBlock A|Slide Block S Slide Block A|Slide Block S|Slide Block A1 Slide Block A2 [Slide Block S1 | Slide Block S2 [ Slide Block A1 | Slide Block A2 Slide Block 51 Slide Block 52| Slide Block A1 | Slide Block A2 [Slide Block S1| Slide Block 2
P 3744 | 6234 P 7144 12642
KS GODOSE 12 |5 3377 15605 13230 / |21462| / 152 760 / / 152 760 / / 419 838 / / KS 86D10 c 15 |10 6429 111387 31458| /| |50764| / 622 | 3050 / / 622 | 3050 / / 1507 | 3014 / /
P 2410 | 3743 P 4645 | 7655
KS 60D10 C 12 |10 5107 (3534 13230 / |21462| / 152 760 / / 152 760 / / 419 838 / / KS 86D20 c 15 |20 2175 | 6889 31458 / |50764| / 622 | 3050 / / 622 | 3050 / / 1507 | 3014 / /
MEEE HIEEMISE (mm) TEFITE (mm) ERAREIHA (N-cm) Rige | VBRE FIEEMBE (mm) TEFITE (mm) EAREIHA (N-cm)
Length of)Rail Repetitive Accurac Traveling Parallelism Max.Driving Torque . d"' Length of Rail Repetitive Accurac Traveling Parallelism Max.Driving Torque
mm C ode C
150
o £0.003 £0.005 0.010 / 15 7 240 £0.003 £0.005 0.015 / 15 10
KS60D — 00 KS 86D —g4;
500 £0.003 +0.005 0.015 / 15 7 e £0.003 +0.005 et . i Lt
81.2 4-M5x0.8Px8 DP 116
2xm-M2.5x0.45Px4 DP 50 -@5. 5x4. 75
2x2-M3xU.5P:;nDP : : \ ) 30 2xn-05.5 THRU.09.5x4.7 DF @ % 2xm-M2.5x0.45Px4 DP 46 4-Méx1Px12 DP
42 \ L ) J 2x2-M4x0.7Px10 DP \ 2-M2.5x0.45Px4 DP 15x2 DP 2xn-@6.6 THRU,&11x6 DP a #
* hy % eI H é‘ Te - 2DR3DIHETHEE 60 e I T znlﬁm?%é
r 1) S = i " oot
P ]g ‘@Eﬁ g‘&’;]’*”i’i’%’i”* R | —— Y T E v fmonrobot.en ﬁ‘ ! =M ik :@/ dl 1 www.limonrobot.cn
TN e i G rs1.7=110 | + | g | — | il w
EEeANC e sl e | A Oh— 3 = E e
s Disf5] —t ¥ P el e qlellelPe | L
60 2-M2.5x0.45Px3 DP/|___[15x1.5 DP el |46 _|20]__ L3 I +
SECTION A-A | K G 86 o 65 [ 65
(m-1)xK ~ 200 H
5.5 L2 85 SECTION A-A (m-1)x200 6.5
L1
59 87
18.5_30.5 23 50
4-M3x0.5Px8 DP 8.5 4-M5x0.8Px10 DP
1 fes [28_ 35
PCD 40 ‘ 10 PCD 70 \ 13 18 ‘
m A m _ }{, === @ 23 i A _m_, ‘ - _
@ 9 | =1 (|11 155 viEews “ : E RN o ,,,,7,7,L,7’14wgim I 7,7%{ [fi,,,i, 2 ¢ views
\’% ~ ° I o ; o - ) °l - y 7‘%’ °l= + ,I,I + | + T S 2
] N A NS pn S > | = A ] By Loyt 8
| ! LA @ ir A =
4-M4x0.7Px8 DP) 2‘ 1 G s 4-M4x0.7Px8 DP ? 100 70 g
PCD 40 [n-1]x100 PCD 60 (n-1)x100
VIEW B VIEW B L2 -
HEEE 2 BAITHE (mm) =& (kg)
Tomn < N G (mm) K(mm) n m < 2 - =742 (mm) =5 (kg)
L2(mm]  L1(mm) A1;8E A2 BEE AVBEE  A2BEE HERE =R DS Himm) n m —
150 220 60 - 25 00 2 2 15 - L2(mm)  L1(mm)  A1BEE A2IBEE ATBEE  A2iBEE
200 270 110 - 50 100 2 2 1.8 = 340 440 210 100 70 3 2 5.7 6.5
300 370 210 135 50 200 3 2 2.4 2.7 440 540 310 200 20 4 3 69 7.7
400 470 310 235 50 100 4 A 3 3.3 540 640 410 300 70 5 3 8.0 8.8
500 570 £10 335 50 200 5 3 3.6 39 640 740 510 400 20 6 & 9.2 10.0
600 670 510 435 50 100 6 6 4.2 4b 740 el eld S0l 0 7 & s L2
#E: BEMETHABIECS, MELIMONBI, 940 1040 810 700 70 9 5 16 124
1 1 #Note: The shaft diameter can be special made in ®86, pls contact LIMON. #E: BISMERTHKEEOS, FHHELIMONELE, 1 2
www.Iimonrobot.cn #Note: The shaft diameter can be special made in ®8, pls contact LIMON. www.Iimonrobot.cn



KSER I KSE&5I#EAE
KS series module KS series module

KS 50 KS60D

FSIEZRE FO BIEERE AR F1
%]\g& FO %%ii% F1 18.5 5930.5 59 10

123.50

70.50

60 155 PCD40  4-M4x0.7Px8DP a5 PCDAS 4-M4x0.7Px10DP
14 16534 PCD33 4-M3x0.5PXx6DP 60 gg PCD46  4-M4x0.7Px8DP 9 | —
s . B R S o T\ G a
T - ; o O A ‘ \% — | | ol | ﬁﬁj; e
=0 ) © gc’ < / f§< :EE i iE i 95’30 5 f — > 1 [
= m-E & 5] ' !
— - ] S el‘ Ix\\ “ P . ShLLLL H—i i N 4-M3x 5PxBDP N
) ® = FEIEERE AR F2 FEIZEREAR F3
) 59 10 PCD454-M3X0.5PX1ODP 59 10
= N = N 35
FEIEIEES AR F2 EIEEE AR F3 l N
60 85 PCD45_ 4-M3x0.5Px8DP 60 7 i A e s0n ﬁ, P I I a0 S 0 N I
2 — E—— : 5|85 — =N 238
— X % Il e ® | — T x S
A ! L /‘\% I | ' gm . 4-M3x0.5P Thru [ (R )
G B = I | YR : = = 1 HE <
TE TR ey = TR - F—
— v - - - FBIEER AR F4 FEIEERS AR Fb }
) = f; B s .  ap
FEHEEIERE HO - !
14165 S el ||| BEARE | R )
s 49.4 4-M3x0.5Px8DP zﬂ,f,j} ol oos ;ﬁ, j} 5 s 2
e, T ] HERE e
| S = -
j‘ T ‘ & — 4-M3x0.5PThru
o<}
Jb g s 7 S EEEE EREHO
ﬁ‘ = — 18 _ 19 59.6
% ‘ 15 33 4-M4x0.7Px15DP
: ﬂ N N
\
IR T1 I T2 e R i==E = @E o "
_— " 31,50 P 546 37 50 D 45 | s ml gl L A ° 9]
— y E ] &l Le
4 g3 h 2 ¥
@30 b " "
~ TR . BTl T2 .
AT, O 35 4-M3
W y E ) Ry 46 R @ 45
- & ] 0055 5 @30 o
g o [U U BT

- NP BHT

N\ @ 8HT

130
|

130

FEEEInE T3 EBITIRLR-T5 46

X @340 2AES
rﬂ, LEL_1 0 emv ?,40
@22 . = - O@WW
| ] P
_ U U IN g
s = ?“
g @
il ] — liosll
& )

1 3 www.limonrobot.cn www.limonrobot.cn 1 4




KS#&SI#A KSRJI#RA

KS series module

KS series module

B EEER
FSiEFE FO FEiEER A F1
5% &7 10
% N 4-M4x0.7Px8DP a5 23 2850 o
— S . 18] —_ . . . = \
v T y”’ Y - e == % =% Mitsubishi{@IREIZE
it R it AT e
H— L8 sl B\ = | 98| 8 N Efa - == EFEAR MidE ... =R .
i 7j'/i  — Lo | ~— o | Iﬂ$ %L (Kg) (Kg) N%l“—_“i’]ﬁ'g (Kg) {%ni
s reoro oore = KS50 KS60 KS86
PCD60 4-M5x0.8Px10DP 4-M4x0.7Px8DP 10W HC—AQ)135D 019 _ _ _ 029 MZ._]R_03A5 02
BEEE AR F2 ,%J‘%E}i‘iiﬁiﬂ . 20W  HC-AQ235D 0.22 - = = 032 MRS 0.2
55 : . n_sw " 50W  HF-KPOS3 0.3 F1 F1/T1 F2 075  MRJII0A 08 220V
28
5] » " - ] i} 100W HF-KP13 056 F1 F1/T1 F2 089  MRJIBI0A 08 220V
77777 q v ) el g/“"\@ \‘i’ — AT o s \ . 200W HF-KP23 094 - - FO/TO 1.6 MR-J35-20A 0.8 220V
= ;;7@@5& @g //\% ] /; 9 H——]sl5H ;,/; * 400W HF-KP43 15 - - FO/TO 21 MR-J35-40A 1 220V
poo Y e roois x%/ = 750W  HF-KP73 29 - - - 4 MRJISTOA 14 220V
4-M4x0.7Px8DP 4-M3x0.5Px8D!
EiEEEE £ Fu FEIEEEE ARE F5
87 12
23 50 87 &
28 23 50 85
18] 28 50
v e —
””” S = L e s I8 o \
= g8 8 = NIEEmE L ER ﬁtﬁg{jﬁf : AT Panasonic {AiR5IE
| — | L 4= @z 5
3 e = — | L oL | e i N QL
«| a5 4-M4x07PXEDP | HiH e 52 18 P REIES R B B
e - e K9 KS50 KS60 KS86 Kg Kg ™
FEiEERs AR F6 EERZEIERE HO
N . v . S50W  MSMDSAZP10.32 F2 F2/712 F3 053  MADDTTIO5 0.8 110V
s 2l 6| ems0maze 50W  MSMDSAZP1 0.32 F2 F2/712 F3 053  MADDT05 0.8 220V
6] A
» 2 Qr\wl/ 100W  MSMDOT1P1 0.47 F2 F2/T12 F3 068  MADDTTIO7 0.8 110V
— T qgg = g s (Q) OIS: 100W  MSMDOT12P1 0.47 F2 F2/T12 F3 068  MADDTI05 0.8 220V
NI — o )
— | = St —1 | 5 %l ST 200W  MSMDO21P1 0.82 - - F1/T1 13 MADDT2110 1.1 110V
8 g 200W  MSMD022P1 0.82 - - F1/T1 13 MADDTIO7 0.8 220V
400W  MSMDO41P1 1.2 - - F1/T1 17 MADDT3120 1.5 110V
AL AL )
BHTIRIZ-TO “ 60.50 BHTIRIE-T1 " 8050 P 70 400W  MSMDO042P1 1.2 . - F1/T1 17 MADDT2210 1.1 220V
750W  MSMD082S1 2.3 - - F4 31 MADDT350 1.5 220V
il o 50
= § . d
i |
I I @147 Y= >
. | - %) | {RIBRF5IE
A = & LR e =
1 i 0@0 9 KS50 KS60 KS86 9 9
! 2 : 10W  SGMWV-ATA2A21 013 - - - 0215 SGDV-R90A0IA 09 200V
= = 1 20W  SGMWV-A2A2A21 0.17 - - - 027  SGDV-R90A0IA 09 200V
SIS T6 50W  SGMAV-ASADAG1 0.3 F1 F1/T1 F2 - SGDV-R70A01A 09 A&
= 50W  SGMAV-ASADA2C 0.3 F1 F1/T1 F2 - SGDV-R70A0TA 09  fms
S50W  SGMAV-ASADA21 0.3 F1 F1/T1 F2 075  SGDV-R70A0TA 09 chigg
100W  SGMAV-01ADA64 0.4 F1 F1/T1 F2 0.89  SGDV-R90A0IA 09
It 200W  SGMAV-02ADAG5 0.9 g - FO/TO 16 SGDV-IRGAOIA 09
— 400W  SGMAV-04ADAG6 1.2 - - FO/TO 21 SGDV-2R8A01A 1
i 750W  SGMAV-08ADA67 2.6 - - - 4 SGDV-5R5A01A 1.5
] (o]
41 }
| ] = QT ©

1 5 www.limonrobot.cn www.limonrobot.cn 1 6



KSER5I#EA
KS series module

KSRJI#RA

KS series module

82
S A2 2x2-M2.6x0.45Px6 DP _ 3 4-MSX0.8Px8 DP
B Mg Me g 2Xm-M2.6%0.45Px4 DP *ﬁ* 2xn-@5.5 THRU ,@9.5x4.7 DP
f =\ 64 _ O ¢ 4
| “ R R ek i /A
_ 1 L b ; 777/*777ﬁﬂ1171117+ G /
e Jd i b2 LR def 1,
[ NS A e mm i IS S S Ta
e i e e TR - I -2 I 3R ok i
! 30 15| = ,,::::::L%L:::Il::gi};;;é;::i::::::,
60 ” o
HEARETRS . 8 EXTE R E
ﬁBEEj‘L\E 1= — i3 SECTION A- A XK
HBRRENE " | | S—
| | [ 59
< H e 4-M3x0.5Px8 DP 182 ; 832'5
o] Ny (] PCD40 /\ n A Y
= W r
1 —%—% LT qﬁ i = T o-vewe
. 58 — 1=
s
RY a b c d e f
KS50 41.3 48 1 10.5 10.2 1
KS60 46.2 52.8 4 14 3.2 13 HBEEE 25 BRATTIE (mm) Gmm Kmm) n m E5=4 ()]
KS86 59 65.7 8 18 3 18 L2(mm)  L1(mm) AlSSEE  A23SEE ABEE A2 BEE
150 220 60 - 25 100 2 2 17 -
200 270 110 - 50 100 2 2 21 -
300 370 210 135 50 200 3 2 27 3.0
400 470 310 235 50 100 4 4 33 3.6
AEEESE 500 570 410 335 50 200 5 3 39 4.2
(o s 600 670 510 435 50 100 6 6 4.6 5.0
62 Zl'l. 4-M4x0.7Px10 DP
2 ‘ o 2x2-M2.6x0.45Px4 DP 30 2xn-@4.5 THRU,@8x4 DP KS86D 116
N 75
e 4 = 112 4-M2.6x0.45Px6 DP 46 4-Méx1Px12 DP
| L f AL - =100 | xm-M2.6x0.45Px4 DP 8 2xn-036.6 THRU,@11x6 DP
2 == B ol @ < 20 ‘ xm-M2.6x0.45Px 1 xn-B6. ,211x
2 . T TS . - [ st g At
ar e L ! te y el i : ‘r
25 _[12.5 o i A 3 o L4 =3 R bl = [ 1w
50 ¥ i (& fif & 57 _|6 Fof 73 o g F— = B |
SECTION A-A 2x2-M3x0.5Px4 DP _| 8 ' ° — 2/ o . N T S }4@ |
46 20 oL 0 _ | e AN
|_K2 e | 86 T = [+ 3] 7.5
< 200 H
L1 SECTION A-A (m-11x200
60
14 34 o
4-M3x0.5Px6 DP 116.5 4-M5x0.8Px10 DP
PCD 33 \ 10 — 10] PCD 70 13 —-a 2 25
T i E i : T — 2 k i i
L )&/KL o i w R MI A I [ NG ) I I B - 2
2 , 2 /L t L g (7 =l vEwe 2 ’ E 3 o ITV—/—=1 4t [F———1[——1'9% _vEws
8 i SO - = s | == 10 ,‘ s s | . | Pt 1S 8
i o & 11— i e ey —— . ENS— = ] . . S
‘ + \ m‘ 1f \_.A g ? ~=T ? Y é
= o 80 G 4-M4x0.7Px8 DP 100 70 Q
VIEW B (011550 PCD 60 (n-11x100
VIEW B L2 X
BEE BRAITE (mm) =& (kg) —
ﬁ’ﬁfﬂr]’: %EE | — - G(mm) K(mm) n — - NEEE 28 B AITIE (mm) =18 (ko)
mm A1 BREE A2 i BRE A1 BEE A2 iBRE ) . . H (mm) n m . .
L2 (mm L1 (mm)  A1BEE A2 igEE Al iERE A2 jBRE
150 220 70 - 3 80 2 1 ; 340 440 210 100 70 3 2 6.5 7.3
200 2;0 150 ?5 io 160 E 1'3 1'5 440 540 310 200 20 4 3 7.8 8.6
>0 320 0 05 > 60 3 6 8 540 640 410 300 70 5 3 9.0 98
300 370 220 155 30 240 4 18 2.0 640 740 510 400 20 6 4 10.3 1.3
740 840 610 500 70 7 4 1.6 12.4
940 1040 810 700 70 9 5 13.0 13.8

1 7 www.limonrobot.cn www.limonrobot.cn 1 8





